SM2EEMRHEY—TZAKE

EER
A (SM2E7A238BK)~2 48
21 CMARIIHRRAETFTZXa—-F
—BEZOVILR (2BBEFE)
1| 3% #F  |(ATC)
2| BYE 3
3| trak ek |(Hr54xTC) ; 86
i BE ®E |(mEHER o 6
s| emE 45 (KR —>TC) . 84
6| x| GEAD) 83 ’
7| wE R (%> 54 XTC) . 85
s| w=m w1 [(7U-) 83
—RBFLXTILR
- F—1
BFL OB 1 2 3 4 5 B — B ) JEf
ISk
1 jfw it W\Ej_(?) - 83 86 WO 68 3-1 0.638 2
=F =& (B> 4 XTC)
BZ s (M%) 89
2 38 58 WO 1-3 4
ek &K |(HEHERR) (6)
TR ${= (7 1—)
3 68 85 WO 83 3-1 0.652 1
El = (7U—)
Ak Hak (FKFA AR
4 WD WD WD WD 0-4 5
B B (FXFA AR
R PR (> 54 XTC) 98
° kAR K (> 54 XTC) 5 (6) > o i 099 ’




BF3ISMULI VTR

BFL R 1 2 3 4 5 % — Bix ;{;; WEifiz

1 |BT &f7 (RTC) 98(4) 80 82 81 4-0 1
2 |EH AR (ATA) 89(4) 81 82 81 3-1 2
3 |IEEH = (F3v/8=X) 08 18 68 48 0-4 5
4 | KB R (RTC) 28 28 86 81 2-2 3
5 |#Ak B8% (EEO0—>TC) 18 18 84 18 1-3 4
BFA45mE IR (2BEZFE)

1| AF A (B KB ZER)

2| BYE 1

3| @@ Az |(KC'S) ; 82

i #m #F  |@RETO) g .

5| B FIZE (- FETTA) 8l

6| BYE 8

7| BYE 82

8| B & (RTC) 1

of #E KX |(OLFvHRTO) 5 84

o| L E |G#HTO) = 0

11| BYE 82

12|tk AhE (TDK) 13

13| B f2 (L3 v 4 ZTC) 3 &

ul B Mz [k o .

15| BYE i

16| 7~k BA (TDK)




BFASEULELT LR (2BHEZFE)

=1
A EEL FrF B 1 2 3 B — B . [=iva
TS
Tk (kEEO—>TC)
1 60 62 2-0 1
x5 K (22— FETTA)
B & (RTC)
2 06 63 1-1 2
=8 B (RTC)
3 WE B (/sz\w/b“/ZTC) 26 36 0-2 3
BH £ (VxR v ¥ ZTC)
_ ] =L
B BFL FF B 1 2 3 4 B - B ) [=Civa
BISE
FEE E (KC'S)
1 26 64 26 1-2 3
Ng Mz (CHNEE-<)
N (TDK)
2 62 64 26 2-1 2
fEAR B—B8 (v Z4XTC)
I (R.T.C)
3 46 46 16 0-3 4
BB B (R.T.C)
4 AR Eﬂ# (TDK) 62 62 61 3-0 1
N 1 (= FETTA)
Ab—F 2>
A (KEEO—>TC)
%5 W (Z—FETTA) 1
21&% BhEE (TDK) 63
fEAR B—BF |[(H>vZ4XTC) 1
3?;% % (RTC) 75
=iE B (RTC) 4
Aﬁ!ﬁi& EA (TDK) 64
AN (= b+ ETTA)
BY—-4
_ \ =L
BFL FrF B 1 2 3 B — B ) [=iva
BRER
1 WE R (LAt H > ZXTC) - 76 - .
EH# gz (LA v ¥ ZRTC) (6)
B (R.T.C)
2 26 16 0-2 3
EBE B (R.T.C)
FEE ME (KC'S) 67
3 61 1-1 2
W e (CYNEES) (6)




BFS50mULY LR (2BE%ZFE)

F—L
A EBFEL R 1 2 3 B — B ) JIEfiz
RER
1 |gs MR (x<— kTC) 61 61 2-0 1
2 |BH BUE (ILETC) 16 06 0-2 3
3 (BB BE (KEgm—>TC) 16 60 1-1 2
_ AN
B BF4 RooE 1 2 3 B- ) [
BER
1 |Ad (B KB 2ER) 60 64 2-0 1
2 |5 R—EBB (BEFF = XAFS) 06 06 0-2 3
3 [BR KT (79-) 46 60 1-1 2
Ab—F 2V}
1] s fIR (R=—FTC) 5
2| BR %A (7v-) — 1 6l 5
3] mm Em |Ggo->T0) o ——— o
4 mEth ER | (B 02
5 « 6 iIREH
1 BH BuUE (ILWETC) 1
2| B B8 |(BEFF-2@EHE) — 00
BFS50mUELT LR
N
BEL R 1 2 3 B — B ) JIEfiz
BRER
A TR (KC’S)
1 81 82 2-0 1
A s (B A{BHER)
B BUE (ILETC) X 23
2 18 0-2 3
AE T (FRTC) RET
515 B EFEO—
3 =B A (#EFo—>T0C) ’ 032 1 ,
BiR  {#E (EFo—>TC) RET




TF40RUEET LR

7L
BFZ T I 1 2 3 4 5 fs — By . [=Civa
BRER
1EBE T (AAC)
1 63 60 61 60 4-0 1
KB BE (32TC)
SRR ES (KC’S)
2 36 46 63 61 2-2 0.543 2
KA BET |((KER—Y)
82 =
3 = i ';¥ (ALTF) 06 64 26 64 2-2 0.412 4
=F% BF (ALTF)
4 AR E%—\% (}L/Z\:/-'j-\/\\XTC) 16 36 62 62 2-2 0.50 3
M ek (>34 XTC)
5 %# 2 f‘:\\% (AAC) 06 16 46 26 0-4 5
=@ LIy (THTC)




